smpl 2011 2031

genr urban_hh=urban_hhf

genr gdp_no=gdp_no_base
genr cpi=cpi_base
do _grev_ss.forecast gov_revenuef_sbase
do _gexp_ss.forecast gov_expf_sbase
do _grev_xss.forecast gov_revenuef_xbase
do _gexp_xss.forecast gov_expf_xbase
do _deflator.forecast deflatorf_base

genr gdp_no=gdp_no_low
genr cpi=cpi_low
do _grev_ss.forecast gov_revenuef_slow
do _gexp_ss.forecast gov_expf_slow
do _grev_xss.forecast gov_revenuef_xlow
do _gexp_xss.forecast gov_expf_xlow
do _deflator.forecast deflatorf_low

genr gdp_no=gdp_no_high
genr cpi=cpi_high
do _grev_ss.forecast gov_revenuef_shigh
do _gexp_ss.forecast gov_expf_shigh
do _grev_xss.forecast gov_revenuef_xhigh
do _gexp_xss.forecast gov_expf_xhigh
do _deflator.forecast deflatorf_high

smpl 2012 2031
genr gdp_no=gdp_no_base
genr cpi=cpi_base
do _wage_tot.forecast wagef_tot_base
genr gdp_no=gdp_no_low
genr cpi=cpi_low
do _wage_tot.forecast wagef_tot_low
genr gdp_no=gdp_no_high
genr cpi=cpi_high
do _wage_tot.forecast wagef_tot_high

smpl 1980 2031
genr rev_ratio_sbase = gov_revenuef_sbase/gdp_no_base*100
genr rev_ratio_slow = gov_revenuef_slow/gdp_no_low*100
genr rev_ratio_shigh = gov_revenuef_shigh/gdp_no_high*100

genr rev_ratio_xbase = gov_revenuef_xbase/gdp_no_base*100
genr rev_ratio_xlow = gov_revenuef_xlow/gdp_no_low*100
genr rev_ratio_xhigh = gov_revenuef_xhigh/gdp_no_high*100

genr rev_exp_sbase = gov_expf_sbase/gov_revenuef_sbase*100
genr rev_exp_slow = gov_expf_slow/gov_revenuef_slow*100
genr rev_exp_shigh = gov_expf_shigh/gov_revenuef_shigh*100

genr deflatorg_base = @pch(deflatorf_base)
genr deflatorg_low = @pch(deflatorf_low)
genr deflatorg_high = @pch(deflatorf_high)
[bookmark: _GoBack]genr wagef_totg_base = @pch(wagef_tot_base)
